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ATTEMPT ALL QUESTIONS:

a) Find the general soluticn of the given function

dPy/ldx” + 6;2: + 13y =2x +40 sin x

) A capacitor C is charged by applying a steady voltage E through a resistance
K. The p.d. between the plates, V. is given by the differential equation:

(i)  Sclve the equation for £ given that when time ¢ =0. ¥ =0.

(ii) Evaluate voltage V when £=50 V,C=10 uF, R=200 k2 and # =1.2 s.

" . . y odv
¢} Use the substitution y = vx to solve the equation x{x-y) -t y'=0
ax

d; Solve the Bernoulli equation

... dy b 2 . : :
2=ty = 2x°(x + 1)y” given that y =1 when x =1

e) The non- exact equation (-3x-1-2y")dx + (-3y-1 + xy’)dy =0 has an
integrating factor of the form u(x,y) = x'y". Find r and s anid solve the
equation.

f) find power series solution by Taylor’s series expansion method

(x— 1) dy/dx* — (3x=2) dy/dx +2xy = 0

ALSO READ ABOUT POWER SERIES
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